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[19-1] @-1,2,5,6,9,10-~F H T mET 7 1 RF v - K& (BT : pg/m®)

TS ¢ 2014 EEHE
WHBEE (M5 —2) @ 25/36(XKilI% : 0) A ] 2 tr(0.56)
MR (Bik~—2x) . 25/36(KM% : 0) f%ﬁ tr(0.70)
R TERE : 0.4 ifk [ 3.1
TE R TR - 1.2 5o/ ME nd
o | LR P . VL 15 T T —
Hh 5 N SRR A E) AR AT A R R
9/18~9/24 tr(0.7) MV
JbiEE 1 [PIsRAEE)R (J1H)
9/16~9/17 13 HV
KL 2 |[fLiE=fiT o (RLigT) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
AFR 3 |MEERX—4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 tr(0.7) MV
B R 4 |EHRALE EAFEST (AT
9/2~9/9 nd MV
A 5 |ARBREFERER Y — (Li#ET)
9/2~9/9 tr(0.7) MV
TERS IR 6 |BERIRRBTAEBRBEAIZEAT (ARG TH)
9/25~10/2 nd MV
TZER 7 |G — A BRBE RS E R (R
9/3~9/10 13 MV

8 |HUHRBREEREOITERT (TTL3RIX)
HOUHR

10/19~10/26 nd MV
9 /J\%E?:ﬁcl%
9/8~9/9 1.4 HV
iy 10 |[MRJINRERER Y% — (F&N) 9/9~9/10
9/10~9/11
9/1~9/8 tr(0.7) MV
BE I 11 |BRE TR BER A ge AT (R i)
8/25~8/26 tr(0.5) HV
iR R 12 [ RIL—BERERKBER Brig) 8/26~8/27
8/27~8/28
8/25~8/26 nd HV
LR 13 [HFd —MBR R R &E SR (R ) 8/26~8/27
8/27~8/28
9/8~9/9 tr(0.7) HV
)11 14 AR EEREEE v % — (&) 9/9~9/10
9/10~9/11
8/26~8/27 tr(0.4) HV
LAY IR 15 [ IWAL R A R BRI ST T (HRF ) 8/27~8/28
8/28~8/29
9/2~9/9 nd MV
EUpR 16 |EFFIRRERSMIET (EFil)
9/16~9/17 tr(0.8) HV
Mgt B3 I 17 | BRI ERAEBR BEWF TR AT (4515 i) 9/17~9/18
9/18~9/19
0/17~9/24 tr(0.7) MV
&R 18 |[TREXTEMAR (45 &)
9/1~9/2 nd HV
—ER 19 |=E\EEREBREEMZEET (WA T 9/2~9/3
9/3~9/4
- g0 MR STAT B A KRS 57 BB B A PE RS 5 B 2T P (1) HV

(R B ) 93 ~9/d
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tr(0.9)

HV
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tr(1.1)
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23

9/1
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tr(0.4)

HV

24

9/16
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9/19

tr(0.5)

HV

25

9/8

9/9

9/9
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9/10

9/11

25

HV

26

8/29

9/5

nd

MV

27

8/29

9/5

nd

MV

28

9/16

9/17

9/17

9/18

9/18

9/19

tr(1.0)

HV

29

9/22

9/29

3.1

MV

9/22

9/29

1.4

MV

30

9/8

9/9

9/9

9/10

9/10

9/11

tr(0.5)

HV

31

9/29

9/30

9/30
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13

HV

32

9/5

9/12

tr(0.6)

MV

33
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tr(1.1)

HV

34

9/10
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MV

35

9/8
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9/9
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9/10
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1.2

HV

36
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9/9

9/10
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